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QUESTION 1

Which two statements regarding the Decomposition scheduled process are incorrect? (Choose two.)
A. It does not recognize forecast exceptions.

B. It reads published planning data from interface tables.

C. It received supplier commits.

D. It creates or updates an order forecast, used by Supply Chain Collaboration to publish to suppliers.

Correct Answer: AC

QUESTION 2

Your customer wants to display a numeric measure in both pound and kilogram Units of Measure (UOM) on a table.
Describe the configuration steps to display a measure in two UOMs.

A. Open a table and select Actions, View Table Configuration and click UOM tab. Select primary UOM as pound and
secondary UOM as kilogram.

B. Open a table and select View, Format Measures to find the measure. Now select pound as primary UOM and
kilogram as secondary UOM.

C. Open a table and select Actions, View Table Configuration and click Measure tab. Find the measure, duplicate the
measure, and rename it. Now select pound as UOM for the original measure and kilogram as UOM for the duplicated

measure.

D. Open a table and select View, Format Measures to find the measure. Duplicate the measure and rename it. Now
select pound as UOM for the original measure and kilogram as UOM for the duplicated measure.

Correct Answer: B

QUESTION 3

You have executed Planning Data Collection and want to confirm that data has successfully been collected. Identify the
three data combinations that can be viewed using the Maintain Supply Network Model Page. (Choose three.)

A. Customer Location and Carriers
B. Safety Stock and Subinventories
C. Sales Channel and Demand Class
D. Calendar and Master Organization
E. Supplier Site and Service Level

Correct Answer: ADE
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QUESTION 4

Your customer has seasonal demand and wants to generate forecast for next six months. You ran a demand plan for
first time using six months of shipments history but the forecast accuracy was low.

Identify two statements that are true in this scenario. (Choose two.)
A. Running a demand plan with both shipments and booking forecast profile is required to forecast seasonal demand.
B. Running a demand plan with less than one year of history will impact seasonal analysis.

C. Running a demand plan with both shipments and seasonal shipments forecast profile is required to forecast seasonal
demand.

D. Running a demand plan with six months of booking history instead of six months of shipment history is required for
seasonal demand.

E. Running a demand plan with 18 to 36 months of shipments history is recommended.

Correct Answer: DE

QUESTION 5
Which three statements are true regarding exceptions? (Choose three.)
A. The conditions under which exceptions are generated can be modified.

B. You can act on an exception by selecting it and clicking \'Resolve exception\\'. A list of ways to resolve will be
generated.

C. The calculation logic for exceptions can be modified.

D. You can drill down into Supplies and Demand from an exception line.
E. You can export exception tables to Excel.

F. You can create custom exceptions.

Correct Answer: ACE

170-1066-22 PDF Dumps 170-1066-22 VCE Dumps 170-1066-22 Study Guide

170-1066-22 PDF Dumps | 1Z20-1066-22 VCE Dumps | 120-1066-22 Study Guide 3/3


https://www.geekcert.com/1z0-1066-22.html
https://www.geekcert.com/1z0-1066-22.html
https://www.geekcert.com/1z0-1066-22.html
http://www.tcpdf.org
https://www.geekcert.com/1z0-1066-22.html
https://www.geekcert.com/1z0-1066-22.html
https://www.geekcert.com/1z0-1066-22.html

